2. Match the headings with the paragraphs. There is one extra heading.

a) Global Reach ¢) Duration of Films e) Technical Perfection
b) Super Hit Films d) Revenue f) Variety of Subjects

3. There are six pronouns in bold in the text. What do they refer to? Circle the correct noun or phrase.

a) ‘it’ in Paragraph 1 refers to Hollywood / Bollywood / India.

b) ‘them’in Paragraph 1 refers to differences / movie buffs / Hollywood and Bollywood.

c) ‘They’in Paragraph 3 refers to Bolfywood marvels / technical effects in movies / Avengers.

d) ‘They’ in Paragraph 4 refers to Bolfywood movies [ noisy songs / weird dances.

e) ‘They’ in Paragraph 5 refers to Hollywood producers / film industries / Bollywood movie makers.
f) ‘it" in Paragraph 6 refers to Bollywood / Hollywood / global audience.

4. Read the sentences and write T (true) or F (false).

... a) Bollywood films are longer as compared to Hollywood films.
... b) The script plays an important role in both Hollywood and Bollywood.
....... c) Hollywood has a physical presence, but this is not so in the case of Bollywood.
..... d} Bollywood has surpassed Hollywood’s level of technical support.
... 2) Bollywood film-makers earn less than their Hollywood counterparts.



